Stock buyback program Information

Date: 27/10/2025

Bolsa Mexicana de Valores, S.A.B. de C.V., informs:

STOCK EXCHANGE CODE

PINFRA

NAME OF THE COMPANY

PROMOTORA Y OPERADORA DE INFRAESTRUCTURA,

S.A.B. DE C.V.

DATE OF THE OPERATION

24/10/2025

RESOURCES REMAINING

Up to the last Report	8,029,526,199
Currently	8,028,373,521

OPERATION FOR EACH OF THE SERIES

SERIES *

BROKERAGE GBM

BALANCES

	Treasury Shares	Shares in circulation	Shares charged to equity
To the last Report	0	380,123,523	52,128,821
To the present Report	0	380,123,523	52,133,821

OPERATIONS

Folio	Type of Operation	Number of Shares	Purchase Price	Value of the Purchase	Shares Under
80166	BUY	86	\$231.31	\$19,893	BUY
80167	BUY	5	\$231.14	\$1,156	BUY
80168	BUY	5	\$231.14	\$1,156	BUY
80169	BUY	20	\$231.14	\$4,623	BUY
80170	BUY	10	\$230.84	\$2,308	BUY
80171	BUY	81	\$230.84	\$18,698	BUY
80172	BUY	5	\$230.81	\$1,154	BUY
80173	BUY	81	\$230.81	\$18,696	BUY
80174	BUY	15	\$230.81	\$3,462	BUY
80175	BUY	77	\$230.81	\$17,772	BUY
80176	BUY	84	\$230.81	\$19,388	BUY

80177	BUY	15	\$230.64	\$3,460	BUY
80178	BUY	84	\$230.80	\$19,387	BUY
80179	BUY	92	\$230.80	\$21,234	BUY
80180	BUY	10	\$230.81	\$2,308	BUY
80181	BUY	90	\$230.81	\$20,773	BUY
80182	BUY	4	\$231.28	\$925	BUY
80183	BUY	10	\$230.81	\$2,308	BUY
80184	BUY	65	\$230.81	\$15,003	BUY
80185	BUY	1	\$230.81	\$231	BUY
80186	BUY	25	\$230.58	\$5,765	BUY
80187	BUY	52	\$230.56	\$11,989	BUY
80188	BUY	5	\$230.56	\$1,153	BUY
80189	BUY	5	\$230.56	\$1,153	BUY
80190	BUY	5	\$230.57	\$1,153	BUY
80191	BUY	80	\$230.56	\$18,445	BUY
80192	BUY	5	\$230.55	\$1,153	BUY
80193	BUY	111	\$230.55	\$25,591	BUY
80194	BUY	36	\$230.55	\$8,300	BUY
80195	BUY	4	\$230.55	\$922	BUY
80196	BUY	36	\$230.55	\$8,300	BUY
80197	BUY	8	\$230.53	\$1,844	BUY
80198	BUY	20	\$230.54	\$4,611	BUY
80199	BUY	5	\$230.54	\$1,153	BUY
80200	BUY	5	\$230.74	\$1,154	BUY
80201	BUY	35	\$230.74	\$8,076	BUY
80202	BUY	7	\$230.74	\$1,615	BUY
80203	BUY	5	\$230.74	\$1,154	BUY
80204	BUY	5	\$230.74	\$1,154	BUY
80205	BUY	20	\$230.58	\$4,612	BUY
80206	BUY	56	\$230.74	\$12,921	BUY

00007	l pun	l 00	l 4220 50	445.670	DUN
80207	BUY	68	\$230.58	\$15,679	BUY
80208	BUY	5	\$230.58	\$1,153	BUY
80209	BUY	5	\$230.58	\$1,153	BUY
80210	BUY	10	\$230.60	\$2,306	BUY
80211	BUY	5	\$230.60	\$1,153	BUY
80212	BUY	5	\$230.60	\$1,153	BUY
80213	BUY	74	\$230.74	\$17,075	BUY
80214	BUY	40	\$230.60	\$9,224	BUY
80215	BUY	5	\$230.60	\$1,153	BUY
80216	BUY	5	\$230.60	\$1,153	BUY
80217	BUY	5	\$230.60	\$1,153	BUY
80218	BUY	5	\$230.60	\$1,153	BUY
80219	BUY	5	\$230.60	\$1,153	BUY
80220	BUY	5	\$230.60	\$1,153	BUY
80221	BUY	5	\$230.61	\$1,153	BUY
80222	BUY	5	\$230.63	\$1,153	BUY
80223	BUY	5	\$230.74	\$1,154	BUY
80224	BUY	12	\$230.74	\$2,769	BUY
80225	BUY	5	\$230.65	\$1,153	BUY
80226	BUY	5	\$230.65	\$1,153	BUY
80227	BUY	12	\$230.74	\$2,769	BUY
80228	BUY	67	\$230.74	\$15,460	BUY
80229	BUY	99	\$230.65	\$22,834	BUY
80230	BUY	113	\$230.74	\$26,074	BUY
80231	BUY	80	\$230.70	\$18,456	BUY
80232	BUY	90	\$230.73	\$20,766	BUY
80233	BUY	1	\$230.73	\$231	BUY
80234	BUY	30	\$230.75	\$6,923	BUY
80235	BUY	46	\$230.75	\$10,615	BUY
80236	BUY	7	\$230.75	\$1,615	BUY

	1	1	1	, .	
80237	BUY	50	\$230.77	\$11,539	BUY
80238	BUY	31	\$230.77	\$7,154	BUY
80239	BUY	15	\$230.79	\$3,462	BUY
80240	BUY	21	\$230.79	\$4,847	BUY
80241	BUY	14	\$230.79	\$3,231	BUY
80242	BUY	40	\$230.79	\$9,232	BUY
80243	BUY	2	\$230.79	\$462	BUY
80244	BUY	80	\$230.83	\$18,466	BUY
80245	BUY	5	\$230.91	\$1,155	BUY
80246	BUY	7	\$230.95	\$1,617	BUY
80247	BUY	8	\$230.95	\$1,848	BUY
80248	BUY	8	\$230.95	\$1,848	BUY
80249	BUY	32	\$230.95	\$7,390	BUY
80250	BUY	14	\$231.39	\$3,239	BUY
80251	BUY	40	\$231.39	\$9,256	BUY
80252	BUY	2	\$231.40	\$463	BUY
80253	BUY	10	\$231.52	\$2,315	BUY
80254	BUY	41	\$232.43	\$9,530	BUY
80255	BUY	2	\$232.58	\$465	BUY
80256	BUY	105	\$232.03	\$24,363	BUY
80257	BUY	65	\$231.43	\$15,043	BUY
80258	BUY	76	\$231.75	\$17,613	BUY
80259	BUY	15	\$230.79	\$3,462	BUY
80260	BUY	5	\$230.79	\$1,154	BUY
80261	BUY	15	\$230.82	\$3,462	BUY
80262	BUY	10	\$230.87	\$2,309	BUY
80263	BUY	10	\$230.86	\$2,309	BUY
80264	BUY	35	\$230.92	\$8,082	BUY
80265	BUY	6	\$230.92	\$1,386	BUY
80266	BUY	28	\$230.93	\$6,466	BUY

80267	BUY	10	\$230.93	\$2,309	BUY
80268	BUY	15	\$230.93	\$3,464	BUY
80269	BUY	5	\$230.93	\$1,155	BUY
80270	BUY	18	\$231.02	\$4,158	BUY
80271	BUY	15	\$231.05	\$3,466	BUY
80272	BUY	45	\$231.05	\$10,397	BUY
80273	BUY	15	\$231.10	\$3,467	BUY
80274	BUY	34	\$231.10	\$7,857	BUY
80275	BUY	35	\$231.10	\$8,089	BUY
80276	BUY	4	\$231.10	\$924	BUY
80277	BUY	10	\$231.17	\$2,312	BUY
80278	BUY	5	\$231.20	\$1,156	BUY
80279	BUY	15	\$231.20	\$3,468	BUY
80280	BUY	55	\$231.21	\$12,717	BUY
80281	BUY	85	\$231.21	\$19,653	BUY
80282	BUY	3	\$231.21	\$694	BUY
80283	BUY	55	\$231.21	\$12,717	BUY
80284	BUY	20	\$231.24	\$4,625	BUY
80285	BUY	10	\$231.25	\$2,313	BUY
80286	BUY	5	\$231.28	\$1,156	BUY
80287	BUY	5	\$231.28	\$1,156	BUY
80288	BUY	5	\$231.28	\$1,156	BUY
80289	BUY	5	\$231.31	\$1,157	BUY
80290	BUY	5	\$231.36	\$1,157	BUY
80291	BUY	8	\$229.08	\$1,833	BUY
80292	BUY	5	\$229.08	\$1,145	BUY
80293	BUY	106	\$229.08	\$24,282	BUY
80294	BUY	10	\$229.68	\$2,297	BUY
80295	BUY	5	\$229.58	\$1,148	BUY
80296	BUY	90	\$229.58	\$20,662	BUY

80297	BUY	465	\$229.73	\$106,824	BUY
80298	BUY	444	\$229.73	\$102,000	BUY
80299	BUY	402	\$229.73	\$92,351	BUY

SERIES L

BROKERAGE

BALANCES

	Treasury Shares	Shares in circulation	Shares charged to equity
To the last Report	0	49,416,058	2,527,823
To the present Report	0	49,416,058	2,527,823

OPERATIONS

Folio	Type of Operation	Number of Shares	Purchase Price	Value of the Purchase	Shares Under
-------	-------------------	------------------	-------------------	-----------------------	-----------------